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When does it become fit; when he squeezes them, but when he
squeezes them they are lacking the required amount

OVERVIEW

The &3 cited a mwn; if a nn Xnv squeezed a grape (or olive) the (exact) size of an
egg, the liquid which comes out is M7v. The X3 explained that the [Iwn is
discussing fruit that was not aX™W 22p% W2, and when this Xnv squeezed the
fruit, the liquid that emerged was 7°won the fruit to be nXmw 2P, but nevertheless
since at this point the fruit does not have the size of a 7¥"2 (since some of the juice
left the fruit), therefore even though the Xnv 07X is touching the fruit it cannot
become Rnv. Our NMdOIN discusses the amount needed for food to be RMY Hapn.

nooIn asks:
= 79910 )9 ANPIV DaAPN NIV Yav lyyrae VVNPN YITAY BN 13929 NYPN INMN

The n'"9, based on the XX here, has a difficulty with s's"@9 interpretation
where *"v1 explained that even a miniscule amount of food can become 3% X»w

A707 (not only 7127771); however our X713 here refutes that view -
- 53593 o) PPYNIT ZaNYIn Y ANMIL DaP1 1919) Y9YINN RN NI P9I Y919 NNT

Because when a drop of liquid leaves the fruit, the fruit becomes fit to be 52pn
XM, so the entire remainder of the fruit should immediately become X2t from
the n» Xnv, since the liquid in the fruit is considered “¥°>2 ya°» (they are
absorbed within the fruit).

N1B0IN answers:
= 82919 MHNDA NNV JaPN UIINY 29 JY GNRT NN 0 19929 29

And nov 1"';7 answered, that even though (according to *"w") food can be »2p»

" See *"wA here 77¥°222 7"7 where he cites a "0 that 92X is X7 932 Xnw.
* According to *"w1 that even less than a 7725 can be 7Xmv 2apn; why does the X3 say that it cannot be fxmw 2pn
because 7w 7°% %3, when there is no MW for RNV N93p (according to "'wA).
? The X3 here discusses whether the liquid inside a fruit is *7°p5 7p5"» (it is deposited inside the fruit but separate
from the fruit) or whether the liquid is *v*%2 ¥92°n (it is absorbed within the fruit and is part of the fruit). If we
assume that 7°pd 757 2pwn, then if a Xnv touches the fruit, the juice which is deposited in the fruit does not
become Rnv since it is considered separate from the fruit. However, if we assume that *v*92 ¥927 that the apwn is
part of the fruit, then if a X1V touches the fruit, the npwn» also becomes Xnv. In our case here why does the miwn say
that the 1"pwn are 217, since the Xnv touched the fruit after it became aR™L? 92p% w1 (because some of the liquid
was expelled), all the juice should become Xnv since *¥°72 ¥227 1pwn and even though there is no more 7¥°23 MW,
nevertheless it should be Xnv according to »"w9 who maintains that even a X3 23 is 7707 12 AR™L 3P0,
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aNmw if it is less than the size of a 18%23, nevertheless -
- 9391 MNSa Hwan Yapn PN

It cannot become X2 52p% "wam if it is less than a 7323,

mooIn gives the source for this ruling that 7¥°2371 M5 W37 22PN W PR
- 7n892593 *099NN RPVY 199 XPOY "HANY YWNRNT APV 135977 DAY 13929 9DINY

And the "9 explains that this is the reason why 7%°20n mnopa won Hapn PR
because we derive from »a8° 2wX that in order for food to be 8»u» others it must

be a 713923, for the words 958> 7w indicate -
- *PPN N3 HaNIN YN

A food that can be eaten all at once -
- 78291 MNDA TWHN Y27 KY XIYN "D 199Y NI» TUN IND N9

And regarding this 2%, which is the size of a 7¥°2, the words of 9% K2° WK
a°» are referencing; indicating that it cannot become “w2 if it is less than a
' ==K

MooIn asks on *"wA:
= (N0 12921y 9N 7992 1999KRT 05N 12229 AYPN TN

And additionally the n''= asked, for the X713 in 1972 ¥R P95 cites a mawn which

states -
- 993 DYPN NN YD RY 1NYPNA 7091 9120 199 P9IN YW 19Pm NPIN YV Y DIwn

The garlic and the oil was 2110 and the porridge was 7°%1,'" and a 2y 912u

touched part of it, he is %212 only the place where he touched, but not the rest. This
concludes the citation of the 7wn -

* Therefore in the case of the 7awn where the fruit initially was not 7%= 22p% 9w and it first can become w2
after some of the juice was squeezed out; however at that point the fruit was less than a 77%°13, and food which is less
than a 77¥°2> cannot become 81 727 W, [See X"wn that even 1312777 it will not become 8™ 22p% wam if it
is less than a 7¥°22; see footnote # 20.] See ‘Thinking it over’ # 1.

2 19,80 (1nw) XIp" reads, Xow? *99 222 ADYR WN ARYR 22) Xnw? 21 1LY RID WK D80 WK DINT 9.

% We understand the word Xnv” in this p105 to mean that the Y31 becomes X»u to the extent that it can be 0™AR XAvN
(it is as if the 770 would have written X»p> [[1°7% 2"»m MmN n'™oa)).

" Even according to "W (that 1923 can be w'"22 nXMW Hapn, nevertheless) P72 cannot be Rnvn others unless they
are the size of a 7¥"2>.

¥ The o*nam assessed that a person can eat a whole egg at once (but not more than an egg).

° The words o1 Y9y RY R, teach us that food cannot become Xnv (and certainly not X»vn) unless it first comes in
contact with water (or other [suitable] liquids).

10°A o1 9130 is someone who became Xnv (by touching a y7w [for instance]) and was 221w in the mpn. He is still
partially Xnv until nightfall. During the period from after the 77°2v until nighttime he is called a o 7120 and can be
7m0 Xnwn (but not PN).

" There was a porridge or cereal made from P grain, however the oil and garlic which were mixed into the
porridge were n17N.
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- 29535 %0 XY XN 5109 SNAN W DIPN N3 19NN D190 Y93 AN
And in all the X3 texts it is written; ‘and we discussed this; why is the place

where he touched become 2105, but it is not the size of a %22’ -
- NINVY Y92 ANMIV YaPn NY NYN

It is evident from the question that food cannot become X% if it is only a w''> —

mMooIn mentions how "1 deals with this difficulty:
- 13 Pwaom 029900 19 0V PO YN

And >"wn there erases from the text the words ;1% 177 X% X (since according
to "W there is no requirement that there be a 7% in order to be XMWY 22pn), and
he explains the X723 in an awkward manner.

mooin offers an additional proof that 1°92IX are not Xm0 727 less than a 7x°20.
- D90 %99 %23 19PWATT ¥ 029N9 NNNN AN XYM INPYN 13529 290 NI

And ¥71°°8 2" brings an additional proof (that 721X is not nmda NP PPN

7%°2571) from 2"\ where we expound the 02105 regarding earthenware utensils -
- Y1na0109 199X 9299 ANR XY IN9N0Y 929W ANR IMIN 1MAYN IMN) 29N

Where it is written, ‘and you shall break it’; meaning, you break it (the 07 °22)

in order to purify it, but you do not break food to purify them. This concludes the

citation from the 3™n. MooIN continues with his proof -
- 1953 90 579 K9T RVIYS NINY Y93 ANDIV 19291 IN)

And if (as °"w1 maintains) that 721X is @w'22 mR@™W ®apn, it is obvious that
breaking up the food into small pieces will not be effective to make them .

2 The 75Pn cannot become Rnw since it is 11 (see footnote # 10), and the 2N W 1wy ow are spread over the
entire 79Pn so there is no 0W or MW in one place that is 7¥°23. See ‘Thinking it over’ # 2.
13 See (the Xm3 and) *"wA there Dp» 7"7 where the X073 is 'Y X173 19920 172 1903 K77 9109 R0K.
41 xnwAo M0 nw .
13 35,80 (rnw) X7 (regarding a v that fell into a 077 *22) reads, Xpu> 12i02 WK 23 IR 28 Dn 997 WK W7 92 9
NaYN InX).
' Once the o711 %95 is broken, there is no more 7x™Y on the broken shards (since it is no longer a *72).
7 If one breaks up the food which were in this 071 *93 (and became &»v) into small pieces (less than a 7¥°22), the
broken pieces retain their &= (even though they are less than the Xm0 N%2p% NY*w); they do not become v (like
the 0711 °22 does).
'8 If we assume that 92X is 7¥°232 XMW ©apn, and if a large loaf of bread (which contains many ni¥>23) would
become X, it is self-understood that by breaking them into pieces that are 7¥°25 or more they would still be X»v, for
they still have the 1w of 8w N3P (we would not need a P1od to teach this to us [we only need the P1oo if they
were broken into pieces less than a 7¥°23]), similarly according to >"wA that the 2w is ¥"23, so no matter how small
the broken pieces are they still have the 713w of a w"3, so they certainly would not become 177v; there is no need for
the P05.
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Moo turns his attention to the proof that >"wA brought from >™n:"
= N1 ONNONON NINY 92 NNV TNNY /WA NANY 02319 HNNT NI

And that 5" n which >"wn cited, stating that 28 is w''22 8% 22pn, that >™n is

an XN272ONK but not a proper 7707 12 AWIT -
= NNNON NIN 1NN DN NN NXIPN P91 XAV D)

And there are many rules in >'"'n which are derived from a pPwp, but

nevertheless they are merely an XnomoR and not a proper 7w7.
- (%30 97 poINY 993 IINY SN 7992 *4a 910 MY 37w

And >"w9 himself in 13 DRY NIR 299 retracted from the position that 921X is 8™ 22pn
w"53; this retraction can be found -
- 22955918 NNNDIV NPVN N7 NNYPYA

In the 8223 which states that a 7199 can be become X»WY with 299218 N2 -
- 29150y 01N NNV N9 NOD ANV NYaP 1Y Y Pavpnt

For >"v there asks, why does the 775 need to be 8% Yap» from something else

in order to become X»v, when the 779 itself is X»u» people and clothes -
- (N3 97 DOINY 01 P92 CMNda5a W9 NI NN 997 37U XM

And >'"wn answered that we find a similar explanation to this question in n>on

NN In WY 2T PP, where the X3 there explains that we are discussing a case, where -
= PN NANY2I1) N9 MNY )

For instance we covered it (the meat of the 717X 779) with less than a %5232 of

dough, and a yw touched this dough -
- D2 TN 19 40N YN 1Y NNWUN N

If we consider the 717X 779 as 92K, the 7179 can combine with the dough -
- P1phoIN ANY NNVHY ANMVA YI* DN INDIV P¥A IND 5270

And this dough can be 82 %2p» if it touches 8= (since together with the
71977 W2 there is a 7%°20) and then in turn this dough can be X»w» other 7995X -

1 See footnote # 1.
20 Xnamox means a support; many times the 237 cite a P05 which seems to support a 771 or 2»21 napn. Here too
1127771 food is w2 XM 9apn, therefore they cited a 109 to support this 13127177 7. [However, IR0 w1 requires
a r7¥°12 even 112771, see footnote # 4.] See ‘Thinking it over’ # 2.
21 See also *"w here 7¥*132 7"7 and vno > 7"7 where "1 indicates that it needs a MYw.
22 The X3 there on 2,89 cites W' that a IR 719 (after it is slaughtered) can be n&mw 22pn (from a yw, ete.) like
regular P721%, even though 7X3177 >10°K cannot be 78w 2apn (for they are not considered 298> WK 991X), nevertheless
the 7m17R 719 had a time where it was 79°9X% "X since (as 9" rules) "9 maintains that one can redeem the 7379
MR (so it becomes 17 and 792K7 MIXR0) even after it was slaughtered, w'">y.
2 qax1 17" R, 9.
* Once the 7179 is slaughtered it is 0°7321 DTX Xnun (without coming into contact with a Xav 127).
* The X723 there is discussing 719°21 N1 (regarding IRMYY W), W"*.
% This is the meaning of 12218 NRML TRAYN 7197, that the 7797 w31 is considered "2 (for M7X).
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- Tayyow na 5957 ARMIL PYA IND SN RY NI YIIN INY IN)

However, if the 7797 w3 is not considered 928, this dough cannot be %ap»
nR»YY, since it does not have the required amount of a 72> -

974 PYY P¥AA NN Z*192233 1M PRY 19 1PNV 959NN PIIIN 193 5933 99

And when other foods touch this dough they will remain 937, since they are

not touching the %21 (or the 779 in our case), but only the dough, which does

not have a 71x°22. This is a quote from >'"w" (in 8,25 P71).
:[999N 9PNNNN 91227 X,NXY 0Nt MODIM ]’))’7 IN DINNNN MY N,NS NAY /OIN Ny 19']

SUMMARY

MooIN maintains that P92IX require a 7¥°2) in order to be nXMY %2pn, and even
though >"wn stated that P22IX are "2 nXML 22pn, nevertheless elsewhere "wA
retracted and agrees that a 7% is required.

THINKING IT OVER

1. 701 "7 answered that the reason it does not become Xnv (according to >, that
T are W'D RAW 923pn) is because that P22IR cannot be N9 ARMIL H2P% WO
me20n.% It is difficult however to attribute this explanation according to *"w", since
M1 states™C ORMIY 2P0 27D MY 02 PR, but not w3 Yapk 273 1w ona PRI

2. It is apparent that 112777 (all agree that) 231 is w"22 X 22p7.°> Why then does
the X3 ask (in P2 1R P)* that 7% M7 XD XM 2100 XX wan 0pn,> for even
if it is not 7¥°23, but 133777 it is XMW P3P even if it is a w521

"1t is evident from this *"w that 79I require a 7¥°35 MW to be ARMIL 3PN,
28 See the 0"wn non there in X,39 191
¥ See footnote # 4.
3 om0 o0 ",
3! See Hxmw 1a7.
32 See footnote # 20.
3 See footnote # 12.
** A similar question can be asked regarding the X3 in 0™ (see footnote # 25).
¥ See R"wAn.
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